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13. An infinite number of charges 
each equal to 1nc are placed along each equal to 1nc are placed along 
the x-axis at x = 1m, x=2m, x=4m, 
x=8m -------------   The electric x=8m -------------.  The electric 
intensity at x=0 due to this set of 
charges is,charges is,



1) ∞ 2) 01) ∞ 2) 0
3) 12NC-1 4) 120 NC-1
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Origin
A BA             B

1) VA>VB 2) VA<VB1) VA>VB 2)  VA<VB

3) VA=VB 4) VA=VB=0
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3)  VA=VB 4)  VA=VB=0
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1)                 Ar

4 ℇ
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φ₁ + φ₂
1) 2) (φ₁ x φ₂) ℇ₀1)

ℇ₀ 
2) (φ₁ x φ₂) ℇ₀ 

3) (φ₁ + φ₂) ℇ₀ 4) (φ₁ - φ₂) ℇ₀3) (φ₁ + φ₂) ℇ₀ 4) (φ₁ φ₂) ℇ₀ 
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1 Q1      Q        
1) V = 

4πℇ₀ R

1      Q        
2) V= 

4πℇ₀ R 4πℇ₀ 2R

3) V = 4πℇR 4) V = 4πℇ₀R
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V V₂ V VV₁ - V₂
1) K=

V V₂

V₁ - V₂
2) K=

VV₁ - V₂ V₂

V₁
3) K

V₁ - V₂
4) K3) K=

V₁ - V₂
4) K=

V₁ 
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d/2                         k₁            
---------------------------------- d

d/2 k₂d/2                          k₂            

ℇ₀A (K₁ + K₂) ℇ₀A  (K₁ + K₂)ℇ₀A  (K₁ + K₂)
1)

d  

( ₁ )
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3ℇ A 4ℇ A3ℇ₀A
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d
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dd  d  
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